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Ex/Sans/PG/3.3E/75/2017

MASTER OF ARTS EXAMINATION, 2017
(2nd  Year, 3rd Semester)

SANSKRIT
Course : XIII E

[A General Survey of Indian Epigraphy]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

=+ - PæFÚFF;F:

1— õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ·FÜFO ÒèÎFF: õFÛFFÍFWÜFFO— 1×3=3

(=+) ÒF˜FUÎF(Early)ÙFeF@ÛÜFF: ÑFF*XÊFÞPæFðFÜFW EFP¼¶FÛF: ÒÜF¶ÎF: =+:
£FFÜF¶FW?

(&F) EF¼FY &FÞXñU PáFPÑF: =Y+: ÎFFÛFPÚF: HPááF&ÜF¶FW õÛF?

(;F) EPÚFáFW&FWðF] P¡FýFÛF[áFUÜFXÑFÍÛFFÎFUÜFFY =+PõÛFÎFh =+FáFFæFõFÞW
EFPæFÚF[a¶FFY?

(fF) ÙFeFüUPáFÑFW: ½FPæF°XÆæFk ÜFW Òõ¶F]æFPÎ¶F ¶FWðF] ÂFY PæFÂFkõFFY
HááFW&FÎFUÜFFY—

(‘~) EèFX=+FPÚFáFW&FW HÑFáFÙÍFõÜF G-æFµFaõÜF J-æFµFaõÜF ˜F àÑFÂÜFk
æFFƒÜFÛFF·FWµF æFµÜFa¶FFÛFh—

2— EÍFXPáFP&F¶FWðF] ·FÜFO ÒèÎFFO õFÛFFÍFWÜFFO— ¶FWðF] EÎÜF¶FÛFO õF]ÞP;FÞF
¼WæFÎFF;FÜFFa PáFÑÜFF áFW&FÎFUÜFO— 4×3=12

(=+) EèFX=+FPÚFáFW&FWðF ] HÑFáFÙÍFFÜFF: ÙFeFüUPáFÑFW: æFYPèFñÝFPÎF
õFX¼FùÞµFk æFµÜFaÎ¶FFÛFh—
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(&F) ;F-°-¶F-æFµFFaÎFFk ÒF˜FUÎFÙFeF@ÛÜFF EFÞÚÜF ;FFY°Uk ÜFFæF¶Fh PæFæF¶FaÎFk
õFP˜F·Fk Ò¼èÜFa¶FFÛFh—

(;F) ÙFeF@ÛÜFF PáFÑFW: HÆæFÛFFPêF¶ÜF ÜFW Òõ¶FFæFF: Ò˜FáFPÎ¶F ¶FWðF]
=+õ¶FFæF¶Fh EÃFPÑF ;FeùµFUÜF¶FÛF¶æFWÎF õFk ÚFFæÜF¶FW? ¶FõÜF æÜFF&ÜFF
=+FÜFFa— 1+3

(fF) Bühler-ÛFùX¼ÜFY: ÚFFÞ¶FæFðFWa EFÞFÛFUÜF-æFµFaÛFFáFFÜFF: Ò˜FáFÎFk
=+FPÚF: ÜF]Pƒ¶FPÚF: õFÛF»ÜFa¶FW?

(‘~) ii;F ] Ñ¶ FÙ F e FüUPáFÑ F W :jj ‡F W · FUÜ FÒÚF W¼PæFð FÜ F W  ÑF [ æ F a ¶ F Î F F Î F F k
PáFPÑF¶FFP¸æF=+FÎFFk ÛF¶FFPÎF õFÛFFõF¶F: õFÛF]ÑF õ»FFÑÜFÎ¶FFÛFh—

&F - PæFÚFF;F:

3— õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ·FÜF: ÒèÎFF: õFÛFFÍFWÜFF:— 1×3=3

(=+) EèFX=+FPÚFáFW&FFÎFFk ¡F]ÎFF;F³õFkõ=+ÞµFW =+õÜFF: ÒF=_+¶FÚFFðFFÜFF
HÑFÜFX;FX ¼_èÜF¶FW?

(&F) PÚF‡FX: GP¶F ÑF¼ÛFh EHS GP¶F ÚFFðFFÜFFk =+U¼_èFk àÑFk ;F_úFP¶F?

(;F) J¶FFæFááFÙÍFWðF] EPÚFáFW&FWðF] õFkõ=_+¶FÚFFðFFÜFF EFP¼¶FÛF HÑFÜFX;F:
=]+·F ÒFÑÜF¶FW?

(fF) &F-&Fµ°-áF=+FÞ-èFÙ¼Y: =+FõFFk õFk&ÜFFÎFFk ÙFXÍFX ÚFæFP¶F?

(‘~) PÛFPùÞ=]+áFõÜF ;æFFPáFEÞh-Òõ¶FÞáFW&FõÜF =+PæF: =+:?

4— ‘~-P˜FPû¶F: ÒèÎFXNæFèÜFÛFWæF õFÛFFÍFWÜF:— EÎÜFWðF] PÂ¶FÜFk õFÛFFÍFWÜFÛFh –
¶FÜFXÞW=+¶FÞõÜF H¸FÞk õFkõ=_+¶FWÎF ¼WæFÎFF;FÜFFa ˜F áFW&FÎFUÜFÛFh— 4×3=12

(=+) EÍFXPáFP&F¶Fk õFÎ¼ÚFb õFFæFÍFFÎFk ÑFP*¶æFF ¶F·F EèFX=+ÒF=_+¶FõÜF
=+X ÚFW¼ HÑFÜF]ƒ¶F GP¶F õFÜF]Pƒ¶F=k+ PæF ˜FFÜFa¶FFÛFh—
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áF¡F[=+F ÛFW ÙFDõF] ÑFFÎFõF¶FõFùõFWõF] ¡FÎFPõF EFÜF¶FF— ¶FWõFk ÜFW
EPÚFùFáF W  æ F F ¼ k° W æ FF E¶FÑ F P¶ FÜ F W  Û F W  =+© W— .....
õF ]&FUÜFÎF¼]&FUÜFÎF k ¡FFPÎFõF kP¶F ..... ÎFFP¶F=+F æF =+FPÎF
PÎF¤FÑFPÜFõFkP¶F ¡FUPæF¶FFÜFW ..... PÎFáF]ÍFPõF PÑF =+FáFPõF ÑFFáF¶Fk
EFáFFÍFÜFWæF[ P¶F—

(õFkõ=_+¶F˜šFÜFF-Þ¡¡F]=+F ÛFÜFF ÙFCðF] ÒFµFèF¶FõFùöFWðF] ¡FÎFW
(=¡FÎFWðF ])EFÜF¶FF:— ¶FWðFF k ÜF: EPÚFùFÞ: æFF ¼µ°: æFF
EF¶ÛFÑFP¶F=+: ÛFÜFF =_+¶F:— ..... õF]&FÎF¼]&FÎFk £FFõÜFPÎ¶F ....
£FFP¶F=+F: æFF =+Fk (Pè˜F¶Fh) PÎFÍÜFFÜFPÜFðÜFPÎ¶F ¡FUPæF¶FFÜF.....
PÎFßÊW EPÑF =+FáFW ÑFFÞP·F=+ÛFh EF ÞFÍFÜFWÜF]: GP¶F—)

(&F) Ò»FÛFß½¼FÛÎFX ¡F]ÎFF;F³ÒèFõ¶FW: æFõ¶F] =+FæÜF;F]µFFè˜F EF
áFX˜ÜFÎ¶FFÛFh—

(;F) èF=+FÙ¼ÛFFPêF¶ÜF õFkP‡FÑ¶FX PÎFÙFÎÍFX PæFÞ˜FÎFUÜF:—

(fF) EPÚFáFW&FõFFPù¶ÜFõÜF ÛFFùF¶ÛÜFk õF¼_ñFÎ¶Fk PæF ˜FFÜFa¶FFÛFh—

(‘~) EÍFXPáFP&F¶FFÎFFk õFk=W+¶FFÎFFÛFh ¼WæFÎFF;FÜFFa E’W~ÎF ÑFPÞµFÛFÎFk =+FÜFaÛFh—
 æFõF]æFW¼¶F]aèF]ÚFeFkèF] ....
 êF]P¶FPæFÑF‡FÚF[ÍFÞÍFÞF ...
 ÜFÛFæFFµFFèæF˜FÎ½W ....
 ÚF]¡F;F]µF;F;FÎF=]+ ...—
 ÑF‡FÞFÛFFÛÙFÞèFPèF ...
 PõFÎÍæFÎFáFFPÞæFõF]ÎÍFÞF ...
 ÛF]ÎÜF_ðÜF_P¶æFÎ¼] ...
 ðF©h¶F]µ°¶F]µ°FÎFáFÛF]PÎFÛFùU ... —
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